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PART – A (10 x 2 = 20 Marks)

Answer all questions :

1. What is the Eulerian method of describing the fluid flow?

2. Explain the terms a). path line, b). streak line, c). stream line and d). stream tube.

3. Name the types of fluid flow.

4. Distinguish between steady flow and uniform flow.
5. Find the velocity potential function Φ= x2-y2, find the velocity components at the point (4,5).
6. Define the equation of continuity. Write the continuity equation for a 3-D flow.

7. Define the convective and local accelerations.
8. Name the forces present in a fluid flow? What are forces are considered for the Euler’s equation of motion?
9. What is the difference between pitot tube and pitot-static tube?

10. Explain the working principle of current meter.
PART – B ( 3 x 10 = 30 Marks)

Answer any three of the following

11. Define the stream function and the potential function in two-dimensional ideal fluid flow and show that stream lines and equipotential lines always intersect at right angles.

12. Derive the Euler’s equation of motion of a fluid. Also State the assumptions and derive Bernoulli’s Equation from it.

(P.T.O)
13. A pipe line carrying oil of specific gravity 0.87, changes in diameter from 200mm diameter at a position A to 500mm diameter at a position B which is 4m at a higher level than A. If the pressure at A and B are 10N/cm2 and 6 N/cm2 respectively and the discharge is 200 litres/sec, determine the loss of head and direction of flow.
14. Explain the principle of venturi meter with a neat sketch? Derive an expression for the discharge through venturi meter.
15. A 20cm (Inlet diameter) x 10cm (throat diameter) venturimeter is inserted in a vertical pipe carrying oil of sp. gr. 0.8. The flow of oil is in upward direction. The difference of levels between the throat and inlet section is 50cm. The oil-mercury differential manometer gives a reading of 300mm of mercury. Find the discharge of oil through the pipe. Take Cd = 0.95.
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